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B
SRR
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SONFMA 7=

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
=sg 2= dsiM X 597,419 599,580 22,161
< 128,122
s 469,297
402 2I2H X201 M 597,419 599,580 22,161
< 128,122
i 469,297
02 2IZE 2 A EZ(OI XM TH ) 597,419 599,580 22,161
O=sg 2= dsXtM XA 597,419
< 128,122
= 469,297
Wiz =8 EdAY 919,750 332,120 587,630
402 RI2EX =20l A 919,750 332,120 587,630
01 22t 2 A B (KM TH &) 919,750 332,120 587,630
OsdA 227 N&
230,000& * 3,000CH * 50/100 345,000
OuWlHIl X& 360,000& * 3,000CH = 50/100 540,000
O=2+2=Z&J N&
250,000& = 278CH = 50/100 34,750
222A4x20|] X& 20,000 15,000 5,000
< 6,000
s 14,000
402 RI2EXt20l ™ 20,000 15,000 5,000
< 6,000
[ 14,000
02 It X2 AL E = (0l X THE) 20,000 15,000 5,000
O==sd=x) XN& 20,000
= 6,000
s 14,000
SIIH SEd X& 123,323 124,057 AT34
< 36,997
s 86,326
301 getEd 3 123,323 124,057 AT34
< 36,997
[ia 86,326
1224 = 123,323 124,057 AT34
OsJIH SEEE It 123,323
< 36,997
[ia 86,326
J2g83dAFINES 15,670,000 0 15,670,000
| 15,670,000
301 LEXZ 15,670,000 0 15,670,000
| 15,670,000
12 JIEtE4 3 15,670,000 0 15,670,000
OJdled 24X =H 15,670,000
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D SAXERA 2E

SA - BB B () - MM - BES Ol &t o San HmEET

| T 75,670,000

EsHAEN (=012 %) 61,180 61,180
J| 61,180

301 getEd 3 61,180 61,180
J| 61,180

1224 = 61,180 61,180
O=&8&g(=012%) z=2H 61,180
J| 61,180

SATNEN At 22l 71,516 71,516
J| 71,516

101 124 dl 26,000 26,000
J| 26,000

04 DIt Z2XEES 26,000 26,000
OZAAEH JI2tH 2= 26,000
J| 26,000

201 2et24d] 21,516 21,516
J| 21,516

01 At 22/l 21,516 21,516
OZ3AU&=H &FHI 21,516
J| 21,516

202 O4dl 24,000 24,000
J| 24,000

01 = LH 4 bl 24,000 24,000
OZUAEZH ot 24,000
J| 24,000

SHMA 2el E= 26,000 26,000

401 Al B2 28I 26,000 26,000

01 A& HI 26,000 26,000
OFIDAE E= 11,000
OMeMED B 15,000

132 H S8 X2 210,000 210,000
< 48,400
s 161,600

402 RI2EA=20| A 210,000 210,000
< 48,400
[ia 161,600

02 QI EAIL EZ (OIS ) 210,000 210,000
ONEE H SR 42 210,000
< 48,400
[ia 161,600

g#asg w4 11,292,901 6,195,810
= 1,524,128
< 738,065
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S-ERTERETE
N A=Y |4

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 9,030,708
AEtHdsHAE=2 258,000 258,000 0
= 258,000
301 et A= 258,000 258,000 0
= 258,000
12 JIEtE2 A= 258,000 258,000 0
O s N2 258,000
= 258,000
MEtBAA=XH K& 1,121,000 844,000 277,000
402 IV X201 & 1,121,000 844,000 277,000
01 BIZtXIEAY SR (KM IHK) 1,121,000 844,000 277,000
O&&d JsdaM X3
260,000 = 1,200ha * 50/100 156,000
OzzAd KI=XM XA 665,000
-2=z2%401= 1,500,000& = 350ha * 60/100 315,000
-RIIs23 2,000,000 = 250ha *~ 70/100 350,000
OFstA=H MMIE & 300,000
ELMEH XN 453,816 465,047 A 11,231
= 312,955
& 60,498
= 80,363
402 BI2H X 20| M 453,816 465,047 A 11,231
= 312,955
= 60,498
= 80,363
02 SIZEXIE A EX (0| XM THL) 453,816 465,047 A 11,231
OEXMEHM X& 453,816
= 312,955
& 60,498
= 80,363
SII&EdlE2 XS 600,000 600,000 0
402 SI2FXHE0| & 600,000 600,000 0
01 It E AL EXR (M) 600,000 600,000 0
OKRJI&Ed s XN 600,000
SIEHR N (LX) 1,249,194 1,249, 194 0
= 774,500
o 142,407
= 332,287
402 SI2vXHE0| ™ 1,249,194 1,249,194 0
= 774,500
= 142,407
= 332,287
02 QIZEXIEANSE X (0| XM THLH) 1,249,194 1,249,194 0
ORJIZ HZ2 XN(0IEMA) 1,249,194
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ool AEASY S4 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 774,500
< 142,407
= 332,287
stdsstg ASsIt XS (AHA) 103,500 80,000 23,500
301 LEHZ 103,500 80,000 23,500
1224 = 103,500 80,000 23,500
OHBAUS L HES QA X2
172,500& * 600ha 103,500
Hetdsdtg A5sIt XN (EX) 130,800 0 130,800
< 26,160
s 104,640
301 LeBAF 130,800 0 130,800
< 26,160
[ia 104,640
12 JIEtE& = 130,800 0 130,800
Oz edsitE EsI 84 130,800
< 26,160
e 104,640
Hlls4&d SN & IR = 37,938 61,430 N 23,492
201 24l 30,000 30,700 AT700
01 At 2t 2l 30,000 30,000 0
ORJIsttd 82 30,000
202 044l 7,938 30,730 N22,792
01 SLHOIYI 7,938 13,230 A5,292
RIsMY SHXY LEX 7,938
RIS X3 A 33,283 33,283 0
= 13,313
< 5,991
[ia 13,979
402 2I2H X201 M 33,283 33,283 0
= 13,313
< 5,991
i 13,979
02 2IZF 2 A EZ (01X TH ) 33,283 33,283 0
ORIIsLAM X& A 33,283
= 13,313
< 5,991
[ 13,979
7I)ls =2 MR 12,500 12,500 0
202 oddl 12,500 12,500 0
03 22AH R0l 12,500 12,500 0
OZMEHZAI(OLAIOIRII=sUHE S) R
2,500,000& » 59H 12,500
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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
FI)l=s 0ILIZ2HAH 2SS XA 16,300 16,300 0
201 £B-2d| 10,500 10,500 0
01 At 22l 10,500 10,500 0
O®RJl=s OILIZ2dAH 28 X3 10,500
301 LEEAZ 5,800 5,800 0
09 HALAHIX RS 5,800 5,800 0
O®Jls OILIZ2HdAH 29 X& 5,800
Il st M XJ ALY 273,530 160,540 112,990
= 66,430
s 207,100
402 RIZ2EXt20l ™ 273,530 160,540 112,990
< 66,430
s 207,100
02 It 2 AL EZ (OIS ) 273,530 160,540 112,990
ORJIstt= et XA 273,530
< 66,430
s 207,100
RIINSAS ASHE NA(EX) 10,400 10,400 0
< 2,808
[ia 7,592
301 EEd = 10,400 10,400 0
< 2,808
s 7,592
12 JIEBHE4 = 10,400 10,400 0
FIIDSAE EHE KA 10,400
< 2,808
s 7,592
FIIISAZ ZZUHAA 18,900 26,840 AT,940
< 5,400
e 13,500
402 2I2HXHE01 M 18,900 26,840 AT,940
< 5,400
e 13,500
02 DIt 2AIS EZ (01 &) 18,900 26,840 AT,940
ORININEAE ZZMH N&
27,000,000& = 70/100 18,900
< 5,400
[ 13,500
=Jl=s H2AEY Jf=E 370,000 230,000 140,000
201 LBt2d| 50,000 50,000 0
01 At 22l 50,000 50,000 0
ORJls HAEY g2 50,000
307 21201 A 320,000 180,000 140,000
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HE: sARWA 23
ool AEASY S4 (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 30,000 80,000 A50,000
Ost=&d Al 30,000
04 QIZFHALAIRH B = 290,000 100,000 190,000
OuLtRIIs HAEE A 290,000
NAH RIls AAZ OfF 1,420,000 0 1,420,000
201 £B-2dH| 100,000 0 100,000
01 At 22l 100,000 0 100,000
OdAx =5 100,000
308 XXM SO A 1,320,000 0 1,320,000
07 IXNHHAR S = 1,320,000 0 1,320,000
O2022 0 M A RO sMHFAAL 21H B = 1,320,000
OtAIOH XIZH 2 |II=8E2A3 Nzl 435,000 375,000 60,000
201 Let2d] 20,000 0 20,000
01 At 22l 20,000 0 20,000
ORJls I MEH 24zt 20,000
202 Odl 20,000 30,000 A 10,000
03 =220l 20,000 20,000 0
OALGOA 2/&= =HMaA & 32 F4
5,000,000& = 43| 20,000
307 gl2tol & 375,000 325,000 50,000
02 IS AHE L 375,000 325,000 50,000
ORIsSNEXN e & FMNFII=HEELH 150,000
OALGOA 2 % ALGOA H&ralol Izl 200,000
OBiofach ALGOA(LI &) EBRA 2Y 25,000
310 2201 & 20,000 20,000 0
02 2HFE= 20,000 20,000 0
OALGOA 2 MRS 3= 20,000
HIll=sgH7a 2el 20,000 0 20,000
201 L2l 20,000 0 20,000
02 2324l 20,000 0 20,000
O RAdE 7L 20,000
YLAUR A HE XA 30,720 38,785 A 8,065
= 15,360
= 4,608
s 10,752
301 LB AF 30,720 38,785 A 8,065
= 15,360
< 4,608
[ia 10,752
01 MI28HE 6= 30,720 38,785 A 8,065




FM: RIN=sEHL
HE: sARWA 23
ool HBPSY S4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OUNE Fedsne NAANL
38,400,000& = 80/100 30,720
2 15,360
< 4,608
i 10,752
2= M=K B3 16,800 8,400 8,400
< 3,150
s 13,650
201 €24l 16,800 8,400 8,400
< 3,150
s 13,650
01 At 22l 16,800 8,400 8,400
ORJlsd d2J=X B3 16,800
< 3,150
[ia 13,650
RI=sRsd AESsIH 32| 299,500 299,500 0
< 59,900
e 239,600
301 LEAS 299,500 299,500 0
< 59,900
i 239,600
12 JIE2 43 299,500 299,500 0
ORIsEsx 2ssIt 328l 299,500
< 59,900
s 239,600
Rlls 25 =UHE A% s A 8,300 8,000 300
= 2,400
s 5,900
307 21201 A 8,300 8,000 300
= 2,400
[ia 5,900
02 It S AIHE L 8,300 8,000 300
ORJls s &E s s XN 8,300
< 2,400
e 5,900
TEd YOS X3 A 92,500 72,272 20,228
< 13,313
s 79,187
402 BI2EX =01 M 92,500 72,272 20,228
< 13,313
s 79,187
02 QI EALEZ (01X E) 92,500 72,272 20,228
Ogd Rd0Es X 92,500
< 13,313
[ia 79,187
SUSASHIRZ Y AlY 300,000 100,000 200,000
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B
S-ERTERETE
N A=Y |4

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 150,000
< 45,000
= 105,000
207 O] 90,000 0 90,000
= 45,000
< 13,500
s 31,500
01 289 90,000 0 90,000
Osgade8doz2 08 AtY
45,000,000 » 204 2 90,000
= 45,000
< 13,500
e 31,500
301 LEEXZ 210,000 100,000 110,000
= 105,000
< 31,500
fia 73,500
12 JE2d = 210,000 100,000 110,000
OsgS#FEMZTZ2 ] At
105,000,000& = 200 & 210,000
= 105,000
< 31,500
e 73,500
dEtd & X XFAY 25,920 0 25,920
201 Ler24] 4,800 0 4,800
01 At 2t 2l 4,800 0 4,800
OXEY ¥ AHAY BB U 2222 X
600,000 * 8 A 4,800
301 LEXZ 21,120 0 21,120
12JEE 4= 21,120 0 21,120
Oz &g & AHEUE A JHXR
220,000 = 82 * 128 21,120
sy MEgdgA XN 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OzZ=g MEAMXH 5,000
Wit & ZZH g & X2 20,000 0 20,000
402 BIZHXHE 0| A 20,000 0 20,000
01 2IZEH 2 A B (KM ) 20,000 0 20,000
OuUMt=Z==4 ZXM XN
2,0002 = 20,00008 * 50/100 20,000
A=Es: 4 2t 54 70,000 0 70,000
201 £B-2dH| 70,000 0 70,000
01 At 22l 70,000 0 70,000
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ool AEASY S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ot =28 B¢t 84 g2 60,000
Os28 Wed3s2 4 ¢ 10,000
UM ==SSHHAY (NALESEI AHAAMY) 3,500,000 0 3,500,000
401 Al HIZ 2018 3,500,000 0 3,500,000
01 A& HI 3,400,000 0 3,400,000
OQUMRI==saHEH 2 (GS 0ASIS) 3,400,000
02 Zeltl 100,000 0 100,000
QUMRI == HEH HE(GS 0ASIS) Zeltl 100,000
e MEHEHX |A L 2el 10,000 0 10,000
201 Ler24E] 10,000 0 10,000
01 At 2t 2l 10,000 0 10,000
OIS THHISX &2tE &X 10,000
SUSBRENSREANE XNEASE(RIIs) 350,000 0 350,000
< 300,000
i 50,000
402 RIZ2EXt20l ™ 350,000 0 350,000
< 300,000
e 50,000
02 RIZt Xt 2 AL EZ (OIS ) 350,000 0 350,000
OstEHXIIERSAE N 350,000
< 300,000
s 50,000
s T 192,000 358,000 ~166,000
s&Jt28 &l 192,000 358,000 A 166,000
SENZE X & |RX2e 192,000 358,000 A 166,000
202 044l 2,000 4,000 A 2,000
01 S LHOIYI 2,000 4,000 A 2,000
Os&lt2s g4 2,000
401 Al HI K 201 I 190,000 354,000 A 164,000
01 A& HI 190,000 354,000 A 164,000
Os&JI28 dREX 700,000& * 100S 70,000
Os&ltizs 2AsE=+ 100,000& * 3005 30,000
SEIZS LED WA 900,000& * 100S 90,000
SENL A 35,459,491 25,033,463 10,426,028
= 1,547,271
s 9,563,000
= 3,063,800
s 21,285,420
SEYEEE e 1,336,000 1,336,000 0
SEMEEA U (ME)(HEAY) 1,286,000 1,286,000 0
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RIsEHY
SENE AL
SEMEEE He

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

1 A& 8l 28I 1,286,000 1,286,000 0

01 A& HI 1,282,000 1,286,000 A 4,000
O=s=Masd Yl (&8) 1,282,000

03 Al 201 Y] 4,000 0 4,000
Os=MEstd MY (M) A2 4,000

SEMEEE FA22 50,000 50,000 0

401 Al HIL 201 50,000 50,000 0

01 Al &bl 50,000 50,000 0
Os=Mesd 3 g2 50,000

SEI|BAIE X4 8,314,139 10,014,203 A 1,700,064
= 114,400
T 2,840,300
= 5,359,439

=2l Al& HbI 2,042,969 2,840,636 NT97,667

201 Bt A | 54,000 54,000 0

01 At 22l Yl 4,000 4,000 0
OfE2lAlE W EXIZ HI & 4,000

02 332494l 50,000 50,000 0
O=clAld SA22lHl 50,000

202 O B 1,969 3,938 A 1,969

01 2L Y| 1,969 3,938 A 1,969
O%elAlE S22 g2=4 1,969

401 Al HI L 2 0HHI 1,375,000 1,329,248 45,752

01 Al &HI 1,368,000 1,325,000 43,000
Ox2INER X2 250,000
Ol HEe sg2EINME 150,000
Ol & =& ZHli=2 &b 50,000
=2 ¥=zA2X =4 30,000
O™ HdEH =42 A Hl(L=560m) 55,000
OFd AT A =T A 60,000
OFQt HE3 X762 HH|(L=385m) 150,000
OAlel &2 Eti=2 &bl 70,000
OZH Hl= 242 dI(L=250m) 50,000
OZ 4 H4 SHi==2 & dI(L=450m) 80,000
OZHS XIW AHHAHI| (L=350m) 200,000
OHE K= SHli+==2 ™ dI(L=300m) 108,000
OHE JME S22 FH|(L=70m) 50,000
OFH &Y sZEFHNUYBFHI(FHHI14]) 25,000
O=3 ot sg8ti==2 3 bl 40,000

03 A& 2 0HbI 7,000 4,248 2,752
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SA - BB B () - MM - BES Ol &t o San HmEET
O=clAI&HHl A&S204I(0.36%) 7,000
403 MHXISHHE X201 E 612,000 1,453,450 A 841,450
02 S 2SHHEHAE R 2 E AL 612,000 1,453,450 A 841,450
O2% & 2UHY =234l (L=120m) 100,000
CIAEE B & &4 350,000
OALFX et&dEHA 3,000,000& * 5404 A& 162,000
SZIIBHAIE S22 464,170 478,730 214,560
201 Let24d] 28,170 30,730 A 2,560
01 AP 2teltl 22,310 25,230 A 2,920
O MIIHNMEH 130,000& * 12& 1,560
ORRML 2eEY 242
500,000& = 302 X 15,000
O 0I¥SI ==& 80,000& = 102X 800
OsU82H +TAN £42
110,000 * 4504 & 4,950
02 2324l 5,860 5,500 360
OstoliCH2 2k==J] HH| 5,500
OM=XNUSHETHASI SRS
30,000& = 123 360
401 Al HIZK 201 I 436,000 448,000 A 12,000
01 A& HI 436,000 448,000 A 12,000
OZX&Fel L gIet RXNE=(56X7) 100,000
OFA #eh LI|BHEH|(L=1.4km) 120,000
OFA AEXT FEHZHHI(L=160m) 110,000
OFA AR Z2=ZZFH|(L=160m) 40,000
O=sgIIEtAlE DI=EX 10,000
O=d8 B8 X+ ABZEA
8,000,000& * 4A 32,000
O=g8 23 Xdt== AtZ el &l
6,000,000& * 4A 24,000
SSIIEAIE B 282,000 280,000 2,000
401 Al HI K 201 I 282,000 280,000 2,000
01 A& HI 282,000 280,000 2,000
OAFA MY Z2DI
500,000& = 54014 + 23] 54,000
Osgsg 23 2= 1,000,000& * 80= 80,000
Ogx=Z E= 3,000,000& * 16914 48,000
OB 24 2 242 F4
5,000,000& * 200 & 100,000
It Az SLE(ME)(HEAY) 210,000 210,000 0
403 XM S =0l A 210,000 210,000 0
02 SO 2SOllCHEH A2 X 2 & A I 210,000 210,000 0
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403 TtXI M SA=01A

M H

2,034,000

1,831,000
203,000
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000
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0
e
>
1
a
+J
Jlor
[0
P
0x
o
™

_'ﬂ
™
[l
>
114

EUNE

500,000

450,000
50,000
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450,000
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000

100,000
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500,000

500,000

450,000
50,000

600,

000

100,000

MW

143,000
114,400
14,300
14,300

142,

500

500

401 AIEHIZ 2 I

A

143,000
114,400
14,300
14,300

142,

500

500

HH A

143,000

143,000
114,400
14,300
14,300

142,

500

500

ST NESSANL () (BEAL)

{0

1,415,000

500,

000

915,000

403 TtXI M SA=01A

1,415,000

500,

000

915,000

02 S 2SotHe ke X &AL b
i

OJHLXNF NEELMHLE

2
o

1,415,000
1,415,000

500,

000

915,000

=il sBE+IIBAIE Jl

EUNE
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30,000
120,000

400,

000

250,000
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30,000
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250,000

01 A& HI

150,000
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SN RIS

M s EMNLAEY

Sl SAIBAIA T4 ECH-E)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OISt sg&+ JIeAE EHl 150,000
< 30,000
[ia 120,000
ISUM E0He 500,000 1,050,000 A 550,000
401 Al HIZ 201 8] 500,000 1,050,000 A 550,000
01 A& HI 500,000 1,050,000 A 550,000
O=gE 2F0S AMESA 500,000
FIXT A2l ANENESAY (HE) (HEAY) 250,000 0 250,000
= 225,000
s 25,000
403 MHXI S E X201 H 250,000 0 250,000
= 225,000
[ia 25,000
02 SO 2SO 2 X 2| & A I 250,000 0 250,000
OFJXF AZ==clAEHE =AY 250,000
= 225,000
e 25,000
SHXTF AZlANENESAIY (HEH (HEAIY) 257,000 0 257,000
< 231,000
s 26,000
403 Mt SHHSA=0l& 257,000 0 257,000
< 231,000
s 26,000
02 S 2S00 CHE A2 E & AL H 257,000 0 257,000
OB T AZ=ClAEHE ALY 257,000
< 231,000
[ia 26,000
X2 A2l AIENE =AY (M) (HEALY) 66,000 0 66,000
< 59,000
e 7,000
403 MRS E X201 E 66,000 0 66,000
< 59,000
e 7,000
02 SO 2SHHEHAE R 2 E AL B 66,000 0 66,000
OZFEXF AlZFclAIEHE =AY 66,000
< 59,000
s 7,000
sEEF0A KA 25,809,352 13,683,260 12,126,092
= 1,432,871
s 9,563,000
< 223,500
s 14,589,981
SEEF02ME RA2c 182,104 324,994 A 142,890
101 @124 dl 10,464 8,934 1,530
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X ZH
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SIsEH Y

SEIF0A A

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 10,464 8,934 1,530
OAN&sS 8Z2&H dF 69,760& * 150 10,464
201 Let2d] 17,630 16,050 1,580
01 At 22l 5,630 4,050 1,580
Og2s 2g8=¢ 70,000& * 3% = 33 630
OsEEF:N2AME 2322 5,000
02 2324l 12,000 12,000 0
Oz= & A& KX
3,000,000 = 40 A 12,000
202 044l 8,010 8,010 0
01 = LH o4 1l 8,010 8,010 0
oYYt SHHENY SREX 8,010
207 Ao 50,000 100,000 250,000
01 284 50,000 100,000 A50,000
OLELSLUHEMNLAIY S2AY Jl=2724 50,000
401 A& HIZ 201 I 96,000 192,000 A 96,000
01 A& HI 96,000 192,000 A 96,000
OsEEF:AME FXE+ 96,000
ANZaeE2st (Al 2Ae) 80,000 200,000 A 120,000
s 56,000
[ia 24,000
207 RO 80,000 0 80,000
s 56,000
e 24,000
01 A2 39l 80,000 0 80,000
OLEISLUHEMNLAY S2AANJIFZE 22|
Y AL UF 80,000
s 56,000
s 24,000
sSEZTANEL (LX) (LH)(EX) 637,140 1,608,572 AQ71,432
as 446,000
i 191,140
403 MtXISHH S A0l & 637,140 1,608,572 AQ71,432
as 446,000
e 191,140
02 S 2SO HEAEE 2 E AL 637,140 1,608,572 AQ71,432
Ol SESARX 2HAEY 637,140
s 446,000
s 191,140
SESHNELSH(LE) 3,614,286 3,181,429 432,857
s 2,530,000
[ia 1,084,286
101 @124 d] 21,600 21,600 0
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= 6,480
04 JI12H22NHSES 21,600 21,600 0
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1,800,000& = 12& 21,600
s 15,120
= 6,480
202 O Hi 2,000 2,000 0
Fay 1,400
= 600
01 SLHA Y] 2,000 2,000 0
OYR=T ol 2,000
= 1,400
= 600
301 etEd 3 20,000 0 20,000
[as 14,000
= 6,000
12 JIEt2E &3 20,000 0 20,000
O3B AZ(JIE L&) 20,000
Fas 14,000
= 6,000
401 AlIEHIZ 20U 4] 3,570,686 3,098,069 472,617
fay 2,499,480
= 1,071,206
01 Al& bl 3,570,686 3,098,069 472,617
OUNE SEZMNBES A 3,570,686
s 2,499,480
= 1,071,206
OIS HSII(X8e)(etols) 30,000 390,000 A 360,000
401 Al B2 28I 30,000 390,000 A 360,000
01 Al &bl 30,000 390,000 A 360,000
ODISYUEIN(HENL)(2RS) 30,000
Or2oSI(MHENE ) () 30,000 410,000 A 380,000
401 Al I 208 30,000 410,000 A 380,000
01 Al HI 30,000 410,000 A 380,000
ODISUSI(HENL)(REH) 30,000
OIS DSI(MEMNL) (2 ) 17,142 404,287 ~387,145
401 AlIEHIZ 20 4| 17,142 404,287 A 387,145
01 Al& HI 17,142 404,287 A 387,145
ODISSIN(HBHY) (&) 17,142
OIS SI(RHENE)(EE) 14,286 408,571 A 394,285
401 AlIEHIZL 20 4] 14,286 408,571 A 394,285
01 Al &bl 14,286 408,571 A 394,285
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401 AlEHIZL £ 0HY| 22,858 405,714 A\ 382,856
01 Al&H| 22,858 405,714 A\ 382,856
QUISSEI(ANENLE)(FESE) 22,858
OISCHED|(ME)(MEAIY) 459,000 459,000 0
401 Al HI L 2 0HHI 459,000 459,000 0
01 Al& H| 459,000 459,000 0
Qnalst2 OIE0HE DI (H &, 2021) 76,500
Ooleiet OIS0HED| (M &,2021) 76,500
Qg2 OIS2HE DI (H &, 2021) 76,500
OMEl OIESetsSI| (M3, 2021) 76,500
OXs 0SS (M &,2021) 76,500
Osd 0ISetsI| (M3, 2021) 76,500
SESALH(ME)(HEAY) 15,000 15,000 0
207 A3 I & 15,000 0 15,000
01 g 15,000 0 15,000
OsZEslduyd dek2dsisd 15,000
HEUsEESXNeZHAE (2ot dU|l0ts 3UE2A 2,855,000 3,210,000 A 355,000
2l ZRAAS)
= 1,427,500
= 1,427,500
202 o4 H| 2,000 3,000 A 1,000
= 1,000
= 1,000
01 2Ll 2,000 3,000 A 1,000
OgFA0uH| 2,000
= 1,000
= 1,000
401 AlEHIZL 2 0HY| 2,853,000 3,195,000 A 342,000
= 1,426,500
= 1,426,500
01 Al&H| 2,853,000 3,075,000 A 222,000
OFEEZ NI XZLAIY (Ho AHI0IE HEE
=2 ZEAY) 2,853,000
= 1,426,500
= 1,426,500
SHEFHARAMESHHMZIAIG (A =EHMNMEOS 898,000 674,000 224,000
A
= 672,000
== 67,800
= 158,200
202 o4 | 2,000 0 2,000
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= 420
01 = LH o4 1l 2,000 0 2,000
OgE=&NHI 2,000
s 1,400
< 180
= 420
401 AIEHIZ 28I 896,000 674,000 222,000
s 670,600
< 67,620
[ia 157,780
01 Al& HI 896,000 674,000 222,000
3 FEMENS ALY 896,000
s 670,600
< 67,620
e 157,780
SHEFLYXNAUSHAMZ A (22 2REMED 675,000 507,000 168,000
SAHY)
s 502,000
= 51,900
s 121,100
202 odl 2,000 2,000 0
s 1,400
< 180
[ia 420
01 = LH YI 2,000 2,000 0
OgR=& NI 2,000
s 1,400
< 180
e 420
401 Al HI & 28I 673,000 505,000 168,000
s 500,600
S 51,720
s 120,680
01 A& HI 673,000 505,000 168,000
Oz #RZMS0I=S MY 673,000
s 500,600
= 51,720
[ia 120,680
=M NESHAME(E2HA) 1,898,570 394,286 1,504,284
s 1,329,000
[ia 569,570
202 oddl 2,000 2,000 0
z 1,400
[ia 600
01 = LH o4 1l 2,000 2,000 0
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OYRFANHI 2,000
s 1,400
[ia 600
401 A& BIZ 201 8] 1,896,570 364,686 1,531,884
s 1,327,600
i 568,970
01 Al& Hl 1,896,570 364,686 1,531,884
OJN=MENESHAY (HH) 1,896,570
s 1,327,600
i 568,970
IIZMENESHANY(EE d8) 2,111,430 394,286 1,717,144
2 1,478,000
s 633,430
101 14 Hl 16,200 21,600 25,400
s 11,340
s 4,860
04 JIZHHZ2XRHEE S 16,200 21,600 25,400
OJNZMEHFS LAY (HH SBNDE S
=l 1,800,000& = 93 16,200
s 11,340
s 4,860
401 AIEHIZ 28I 2,095,230 364,686 1,730,544
s 1,466,660
i 628,570
01 A& Hl 2,095,230 364,686 1,730,544
OJIZMENESHANY (HE 28) 2,095,230
bl 1,466,660
e 628,570
AN TH A0l L XX S X2 A 11,936 48,978 A 37,042
= 5,371
e 6,565
401 Al& I 28I 11,936 48,978 A 37,042
= 5,371
s 6,565
01 A& HI 11,936 48,978 A 37,042
OI=HEE EHSZETAIE XA 11,936
= 5,371
s 6,565
SENEFEHAAMS 2,100,000 0 2,100,000
s 1,470,000
[ia 630,000
201 Let24d] 10,000 0 10,000
s 7,000
s 3,000
01 At 2teltl 10,000 0 10,000
OF&AJ3Z 32| 10,000
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e 7,000
s 3,000
307 glz2tol & 1,100,000 0 1,100,000
s 770,000
s 330,000
05 RIZHRI & 3 1,100,000 0 1,100,000
Os&EdadaseiaAy =8 1,100,000
s 770,000
s 330,000
401 AIEHI L 20 990,000 0 990, 000
as 693,000
s 297,000
01 A& HI 990,000 0 990, 000
Os&ENEd s AAMY 990,000
s 693,000
s 297,000
SENESEEHAAMS (X)) 60,000 0 60,000
101 @124 dl 60,000 0 60,000
04 JIZHHZ2XNESE S 60,000 0 60,000
OsENEHAZHAAY FAC SSY| 60,000
“AR=E 3,000,000& » 122 36,000
-A R E 2,000,000& = 12& 24,000
H=E 23 kel ZEAY 8,500,000 8,500,000
401 Al HI K 201 I 8,500,000 8,500,000
01 A& HI 8,400,000 8,400,000
Odg=s B3 Xl =8 ZAHI(ZE) 1,600,000
ods 22 Xel =8 ZAH(EHA) 1,600,000
odls B2 Xel =8 ZAE(HEA) 1,600,000
o#s 232 Xel =& Z Al (Ar2l) 1,600,000
odls 22 Xxel =8 ZAME(EH) 1,600,000
ORsdY #d=UE MUEISK SFSAH247) 400,000
02 Zeltl 100,000 0 100,000
Ood=s E3Xxel &AM Zeldl 100,000
SHEFNAUXNSMEWHHMNZAMNG (HEH UA) 542,000 0 542,000
s 411,000
< 39,300
s 91,700
401 Al HIZ 201 Y] 542,000 0 542,000
s 411,000
S 39,300
i 91,700
01 A& HI 542,000 0 542,000
OF& HHEMSOIS A 542,000
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Fag 411,000
& 39,300
= 91,700
SHEFHARAMEBHHIMEZAIL (AF2IEH & =) 350,000 0 350,000
g 264,000
= 25,800
= 60,200
202 o4 | 2,000 0 2,000
= 1,400
o= 180
= 420
01 2L HI 2,000 0 2,000
OgFA0HH| 2,000
= 1,400
=} 180
= 420
401 Al HI L £ 0HHI 348,000 0 348,000
g 262,600
= 25,620
= 59,780
01 Al& H| 348,000 0 348,000
OAMEl EENMEDISAIY 348,000
Fag 262,600
= 25,620
= 59,780
SHEFHARNAMEHAHNZAIG(EEH 2H) 534,000 0 534,000
g 405,000
= 38,700
= 90,300
401 AIEHIZL 201 Y| 534,000 0 534,000
= 405,000
= 38,700
= 90,300
01 Al&H| 534,000 0 534,000
O S TMES0IS ALY 534,000
Fag 405,000
& 38,700
= 90,300
SRR 29 - 22 171,600 0 171,600
101 2124 H] 21,600 0 21,600
04 JI2ZtHIZ22NEE S 21,600 0 21,600
OBANVER ARY 2SH|
1,800,000 * 12& 21,600
207 A3 & 150,000 0 150,000
01 A 150,000 0 150,000
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OLBSAHENLAIY SUXNFEE 2F 2t
Y AFAstw=E 150,000
sXE2&2e] 146,163 56,502 89,661
| 102,314
[ia 43,849
SK A et A= 146,163 56,502 89,661
J| 102,314
s 43,849
sXolE2el X3 146,163 34,151 112,012
J| 102,314
s 43,849
101 @124l 142,000 31,951 110,049
| 99,400
[ia 42,600
M4 II2HHZ22NSES 142,000 31,951 110,049
OsXOoIEAEZA 212 Y 142,000
| 99,400
e 42,600
201 L2l 4,163 2,200 1,963
| 2,914
i 1,249
01 At 22l 4,163 2,200 1,963
OsX0oIEAEHEA 28I 4,163
J| 2,914
[ia 1,249
MW= 50,076 58,252 28,176
SHUALNEEH 50,076 58,252 A8, 176
SHMRs 435 47,700 53,500 25,800
201 L2l 10,000 15,000 5,000
01 At 22l 10,000 10,000 0
OZNESETA e85 10,000
202 oidl 19,000 19,000 0
03 22 FR0HI 19,000 19,000 0
O3MAM(SES)TAIS# AN 20
2,000,000& = 5H 10,000
OSHMII () A 20 9,000
203 H R =&l 1,200 2,000 A 800
03 Al =X A2 =& 1,200 2,000 A 800
O=Musgd ANMFX 1,200
301 LPEXF 17,500 17,500 0
07 2el=& 0o bl 17,500 17,500 0
O2HMIMM(2E) SA A8 EH 7,500
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